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1. When a perfectly competitive firm attains long-run equilibrium, it is certain to be
operating at an output level at which its long-run average cost curve:

a)
b)
c)
d)

is falling.

is falling or attains a minimum.
is rising.

attains a minimum or is rising,

2.1f a perfectly competitive industry is in short-run equilibrium, we can be sure that:

a)
b)
c)
d)

all producers in the industry are méking a profit.

every producer who is supplying output is making a profit.

all producers who are supplying output are making the same profit.

every producer who is supplying output is producing at a point where market
price equals his marginal cost.

3. According to the law of diminishing returns, the marginal product of labor
employed in a production process that also uses fixed inputs:

a)
b)
c)
d)

must rise initially as labor inputs are increased.
must fall eventually as iabor inputs are increased.
must exceed APy over some range of labor inputs.
must exceed AP; over all range of labor inputs.

4. The production function facing a firm will change whenever:

a)
b)
c)
d)

input prices change.

the firm employs more of any variable input.
relevant technology changes.

the firm increases its level of output.

5.1In any production process, the marginal product of labor equals:

a)
b)

c)
d

the value of total output minus the cost of the fixed capital stock.

the change in total output that occurs when a one-unit change is made in labor
inputs.

total output divided by total labor inputs.

total output produced with the given labor inputs. -
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6. If the market demand curve is inelastic at any point, we can be sure that, at the
quantity level cofre_:sponding to this point, marginal revenue: -
a) will be positive. '
b) will be zero.
¢) will be negative.
d) will exceed average revenue.

7. If an individual selling in a perfectly competitive market wants to double the
amount he sells in this market, he:
a) should lower price.
b} should advertise his product.
¢) should take steps to increase the elasticity of demand for his output.
d) need only double his output and the amount he offers for sale.

8. For a producer who sells in a perfectly competitive market and who attains short-
run equilibrium by supplying the output level that equates marginal cost with
market price, all of the following statements will hold except:

4) average variable cost is certain to be minimized.
b) marginal revenue will equal marginal cost.

¢) marginal revenue will equal average revenue.

d) profits will be maximized.

9.1f the market demand curve is linear and negatively sloped, we can be sure that:
a) it will have unitary elasticity everywhere.
b) the slope of the market demand curve will be everywhere the same but
elasticity will fall as quantity sold is increased.
¢) price elasticity will be everywhere greater than one.
d) price elasticity will be everywhere less than one but greater than zero.

10. A monopolist with positive MC would never maximize profits by producing at
which of the following points:
a) the one where TR is maximized.
b) one where AVC is falling.
¢) one where MC is falling.
d) one where the price elasticity of demand for his output was less than one.
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11. A monopoly position is certain to offer profits to the firm exercising it in which
of the following situations: :
a) the firm is also a monopolist.
b) the firm’s MR curve intersects its MC curve at the point where MC equals
ATC.
¢) the firm’s MR curve intersects its MC curve twice.
d) the firm’s ATC curve lies at some output levels below its AR curve.

12. For a market to be perfectlv competltlve all of the following conditions must
hold except:
a) buyers must behave as price takers.
b) the market demand curve must be horizontal.
c) sellers must behave as:price takers.
d) the product sold must be homogeneous.

13. In the special case in which all monopolistic competitors in a given group are
assumed to face identical cost and revenue curves, the profits that these firms
earn in long-run equilibrium will, assuming free exit and entry:

a) be substantial if they avoid price competition.

b) be zero. - '

¢) be substantial if they avoid nonprice competition.
d) be substantial if exit from the group is limited.

14. The imposition of a tax on the sale of a product traded in a perfectly
competitive market will have no effect in the short run on the quantity of output
traded in which of the following situations:

a) the tax is imposed on buyers of the product.

b) The tax is small.

¢) market demand for the product has zero elasticity.
d) market supply of the product has zero elasticity.

15. The means by which a producer can seck to differentiate his product form that
of his competitors include all of the following but:
a) changing the ingredients he puts in his product.
b) changing the price at which he sells his product.
¢) changing the way he packages his product.
d) changing the properties he attributes to his product in advertising.
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B 16. A perfectly competitive economy would not achieve a Pareto optimal allocation

of resources in production in the presence of which of the following conditions:

a) the government requirés Jarge producers to pay a tax on the labor they employ

- but exempts small firms from the tax.

b) the government imposes a minimum wage that exceeds the wage that would
equate the supply of and demand for unskilled labor.

. ¢) externalities exist in consumption; i.e., the utility of some consumers depends

in part on the goods consumed by other individuals.

i d) the economy, while it is operating at a point on its production possibility

frontier, is not operating at the point necessary for obtaining constrained bliss.

0L 17. In a certain economy, producers of commodity X impose external diseconomies
on producers of other outputs. For resource allocation in this economy to be
Pareto optimal:

i ' a) production of commodity X must be halted altogether.

#'b) consumption of commodity X must be discouraged.

s ¢) commodity X must be sold at a price equal to its social marginal cost.

d) commodity X must be made a public good.

1‘? - 18. In any economy in which all markets are perfectly competitive, the allocation of

consumption goods is efficient (i.., Pareto optimal) because:

a) insuch an economy production is efficient.

- ‘ b) all consumers will be maximizing their satisfaction relative to the same set

of commodity prices, and, consequently, they will all have identical rates of

commodity substitution between any pair of consumption goods.

R '¢) the social welfare function is defined in such a way that any point of

general equilibrium in a competitive economy maximizes social welfare;

- i.e., corresponds to a point of constrained bliss. '

d) perfect competition permits the economy to consume at a point beyond (i.e.,
above) the production possibility frontier.

20

19. To move in a two-good, two-person economy from the confract curve in the
Edgeworth box to the utility-possibility frontier, we need to know:

N a) the initial endowments possessed by both consumers of both goods.

b) the competitive structure of the market in which the two goods are traded.

i ¢) the point on the contract curve the two consumers reach through trading.

d) the level of utility that corresponds to each one of both consumers’
indifference curves.
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20. If a two-input, two-output economy is operating at a point along its productlon

possibility curve, which of the following is not true:

a) production is Pareto optimal.

b} consumption is Pareto optimal.

¢) all producers in both industries have identical rates of technical substitution
between both inputs.

d) the output of one good could not be increased without decreasing the
output of the other good.
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I. Multiple Choice

-

(60 points, 3 points each question)

1, Options can be used to view a firm from both a:

a.
b.
c.
d.

e.

call written by the bondhcolders or a put bought by the
bondholders.

put sold by the bondholders or a call written by the
bondholders.

put sold by the shareholders and a call written by the
shareholders.

call written by the shareholders and a put bought by the
shareholders.

none of the above.

2. Suppose that pencils sell in the U.S. for $3.00 per gross, while in
London, the price is 2.00. Suppose that the exchange rate is $1.75
per pound. Given this scenario, which of the following will likely
take place in the absence of market frictions?

Doanyge

3. In

Many pencils would move from the U.S. to London.
Many pencils would move from London to the U.S.
The price of pencils in the U.S. would rise.
Both a and b,

Both a and c¢.

the One Factor {APT) Model, the characteristic line to estimate &
1

passes through the origin, unlike the estimate used in the CAPM
because:

a.

b.

C.

a.

e.

the relationship is between the actual return on a security and the
market index.

the relationship measures the change in the security return over
time versus the change in the market return. )

the relationship measures the change in excess return on a security
versus GNP. ) .

the relationship measures the change in excess return on a security
versus the change in the factor about its mean of zero.

cannot be determined without actual data.

4., The P/E ratio is a multiple of earnings that investors pay for a
stock. The P/E is related to growth, related

to

PO UD0o

The total number of variance and covariance terms 1n portfelic is N .

the discount rate, and related to the stock’s risk.
positively, positively, negatively.
negatively, positively, positively.
positively, negatively, negatively.

. negatively, negatively, positively.
. none of the above. )

2

How many of these would be covariancesg?

a.
b.
C.

d.

N
2

N

2
N - N
2

N - N/2

. none of the above.
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6. Which of the following factors influence the choice between merger and
an acquisition of stock? »
a. Shareholders are dealt with directly to bypass target management
- and board of directors in an acquisition of stock. .
b. In a tender offer, some minority shareholders may not tender
B preventing complete firm absorption.
¢. Target management may be unfriendly and resist an acquisition
offer. Resistance usually make the stock price higher.
d. all of the above.
e. none of the above.

7. A firm has 100 shares of stock and 40 warrants outstanding. The

B warrants are about to expire, and all of them will be exercised.
The market value of the firm’s assets is $2,000, and the firm has
no debt. Each warrant gives the owner the right to buy 2 shares at
$15 per share. What is the price per share of the stock? 7

a. $15.00.
L b. $17.78. ~
c. $11.11.
3 d. $20.00. N
e. None of the above.
0 8. Financial managers must be cognizant of market efficiency because: 410
a. manipulating earnings by accounting changes does not fool the
n market. d
b. timing security sales is futile because without private
information the current price reflects all known information.
- : . . -
c. there is limited price pressure from any large sale of stock
depressing prices momentarily which then recover to prior levels.
- d. all of the above. .
e. none of the above.

i 9. Donny Dell Inc. had a days in inventory (based on 365 days) of 5. i
15 Cost of goods sold were $4,380. Net working capital was $80 and 15
™ total current assets were $400. What is Donny Dell’s quick ratio? .

a. 5.000
- b. 1.794 4
c. 1.063 ’
N d. 2.400 B
e. none of the above.
Question 10 refers to the following:
A mortgage banker makes a commitment today to make loans to
201 various first time homebuyers in one month at a stated rate of Jao
interest.
- 10. To protect against interest rate risk, the mortgage banker should: "
a. buy bond futures, as this position will hedge loses if rates rise.
B " b. sell bond futures, as this position will hedge losses if rates -
rise. :
K c. sell bond futures, as this position will add to his gains if rates
rise.
d. buy bond futures, as this position will add to his gains if rates
- rise. -

e. none of the above.
25] - 25
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If a company changes its capital structure:

-a. lts debt beta will not change.
b. Its common stock beta will not change.

¢ Its asset beta will not change.

d. Its preferred stock beta will not change.
e. All of the above are correct.

12. Using the company’s cost of capital to evaluate a project is:

13,

14.

15.

a. Always correct.

b. Always wrong. .

c. Correct only for those companies which have stable cash flows.

d. Correct only for projects which are as risky as the average of the company’s
assets.

e. Correct only for the companies whose managers maximize the shareholders’
value.

Which of the following statement is true ?

a. A firm that earns the opportunity cost of capital is earning economic rents.

b. A firm that invests in positive net-present-value projects expects to eam
economic rents.

c. A firm that invests in zero net-present-value ventures expects to earn economic
rents. _

d. Economic rents are net cash flows of investment projects.

e. A firm whose managers conduct insider trading cannot earn economic rents.

Which of the following would be of interest to a fundamental analyst, who
evaluates the prospects of a firm ? '

a. Recent stock price behavior.

b. Information about a new product under development in the firm.

c. The relationship between the stock price and the Taiwan Value-weighted Index.

d. The location of the firm’s headquarter.
e. None of the above.

The price of a stock tends to decline when the company issues additional common

shares because: .

a. Other things being equal, increased supply implies a decrease in price.

b. Earnings per share will decrease because the number of common shares
outstanding increase.

c. The financial market anticipates that managers will issue stock when they think
the stock is overvalued. '

d. The value of the firm’s assets remains the same, while the number of
shareholders increase. '

e. None of the above.
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16. An investor buys one share of stock and a put option on the stock and
simultaneously sells a call option on the stock with the same exercise. What will
be the value of his investment on the final exercise date ?

a. Higher than the exercise price if the stock price rises and lower than the .

exercise price if it falls,
b. Equal to the exercise price regardless of the stock price.

c. Equal to zero regardless of the stock price, -

d. Lower than the exercise price regardless of the stock price.
¢. Higher than the exercise price regardless of the stock price.

17. A dividend is unexpectedly paid on the common stock, the warrant holder:

a. Loses value. T

b. Gains value,
c. Is unaffected.

d. May gain or lose, depending on other factors, such as stock price variance. .

e. None of the above,

18. Which of the following is not a sensible reason for merger ?
a. Elimination of inefficiencies.

b. Economies of scale. 1

¢. Ability to use tax shields.
d. Diversification.

e. Complementary resources. e

19. Which of the following is correct in capital budgeting process ?

a. Ignore incremental cash flows. -

b. Include working capital requirements.
¢. Exclude opportunity costs.

d. Include sunk costs.

e. None of the above.

20. If the depreciation amount is $100,000, the marginal tax rate is 25% and the
average tax rate is 35 %, then the tax shield due to depreciation is:

a.  $100,000. : .

$25,000.

$35,000. 7

b
c.
d. $75,000.
e. $65,000.
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II. Essay or Calculation
(40 points, 10 point each problem)

1. According to Black-Scholes-Option Pricing Model, there are five
factors influencing the price of an option. What are they? How do they
influence the option price? (hint: positively or negatively)

2. Please define the terms of “Operating Leverage” and “financial
Leverage”, and give numerical examples explaining their usage in

financial management.

3, Travelovers Group announces to acquire (i.e., buy) City Bank. Basic financial
data for the two companies are as follows:

Travelovers Group City Bank
Number of common shares
outstanding before the merger: 2,000,000 1,000,000
Share price before the
announcement : $30 $40

The merger is financed by an exchange of common stock (EEEHR).
Specifically, Travelovers Group agrees to issue additional 1,000,000 shares of
Travelovers Group’s common stock to City Bank’s shareholders. In return, City
Bank’s sharcholders tender (i.e., give) all of their shares of City Bank to-
‘Travelovers Group.  Suppose the merger will result in a synergy (&%) of
$20,000,000. In other words, the value of the two companies operated as a
single corporation is $120,000,000. (a) How much do Travelovers Group’s
shareholders gain (or lose) from this merger 7 (b) What is the maximum number
of shareé‘ﬂqz'tt Travelovers Group can offer such that the merger is worthwhile (i.e.,
a positive net-present-value project) to Travelovers Group ?

4. You are a financial consultant to John, who intends to invest $2 million in a fund.
A famous fund manager comes forward and offers the following investment
contract to John:
The mutual fund will invest the money in the stock market for one year.
Suppose at the end of one year, the future value of this fund is X. IfXis
greater than $2 million, the fund manager will receive one half of (X —
2.000,000) as the management fees (FHEE). If X is less than $2 million,
the fund manager must bear (&%) the loss. That is, John will still have $2
million if X is lower than 2,000,000.

Will you recommend John accept this contract ?  Why ?
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